12@0937 (K12a0937)
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Linearized knot diagam

”Q/J |

6 9 1 2 10 11 12 3 7 &8 5

Solving Sequence
11_/

. 5124>1*>44>2*>6,94>3*>8*>1 *)7*)10%}02,06,09
A knot d1agrarrl 10

C1 Cs C3 Cs C11 Cr
Ideals for irreducible component#ﬂ)f Xpar

I = (™ 4u®® 4 20+ 1, —4u™ —14u™® + - 420+ 11, u® + 30 - —4u—1)

I} = (—v?a+b—a, —v?a+a®+au—a—u, vb —u®42u—1)

* 2 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I It =
(u**+4u?3 4. . +2b+1, —4u** —14u*3+. . -+ 2a+11, u*®+3u**+.. . —4u—1)

(i) Arc colorings

aq =

ag =

2utt + Ut 4 = 2u—
ag =

1,44 43 1
—dut —2ut 4+ 3u—

—u® —3ub —3ut +1
—ul0 — 448 — 5u8 + 3u?

BuM L5 4 Ly —6 )

as =

(
(
(
(o)
a6 = (—u7—3u5—2u3+u
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes = u** + 2u®3 ... — 124 - 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C12 ut® =3t —du+1
Ca,Cs u®® 3+ —2u+41
c3, Cy P — M 320+ 64
Ce,Cr,C8 u45+4u44+...+u—1
€10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4, C12 y*® + 37y -+ 40y — 1
C2,C5 y*® — 39y + .. + 54616y — 1681
€3, Co y*® + 35y + - - 4 29696y — 4096
C6,C7,C8 y45 762y44+~~+33y7 1
€10, C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.890413 4 0.1226971
a=—1.10889 — 1.111261
b= —1.76542 + 0.092021

18.6493 + 7.35201

—17.3944 — 3.60301

u = —0.890413 — 0.1226971
a=—1.10889 + 1.111261
b= —1.76542 — 0.092021

18.6493 — 7.35201

—17.3944 + 3.60301

u = —0.857781 4 0.0857391
a= 0.773971 + 0.8508921
b= 1.146650 — 0.3508281

—10.38620 + 5.449921

—17.1451 — 4.42581

u = —0.857781 — 0.0857391
a= 0.773971 — 0.8508921

—10.38620 — 5.449921

—17.1451 + 4.42581

b= 1.146650 + 0.3508281

uw= 0.851384

a= 1.98833 —15.7842 —16.5970
b= 1.74823
u = —0.826935 4 0.0300251

a = —0.276934 — 0.5753201
b = —0.381901 + 0.6361941

—5.568348 + 2.071401

—14.3541 — 3.36421

u = —0.826935 — 0.0300251
a = —0.276934 + 0.5753201
b= —0.381901 — 0.6361941

—5.568348 — 2.071401

—14.3541 4+ 3.36421

u = 0.606365 4+ 0.5311001
0.104984 + 1.2363301
b= —1.74792 — 0.015741

a =

—14.7030 — 2.15391

—15.6545 + 3.12661

u = 0.606365 — 0.5311001
0.104984 — 1.2363301
b= —1.74792 + 0.015741

—14.7030 + 2.15391

—15.6545 — 3.12661

uw= 0.778750
a = —1.54037 —5.57462 —16.4290
b= —1.06860




Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

u = —0.110795 + 1.2186501
a = —1.31939 4 1.710471
b= 1.61924 —0.056161

—5.93702 + 1.709671

—11.27232 4 1.903101

u = —0.110795 — 1.2186501
a = —1.31939 — 1.710471
b= 1.61924 + 0.056161

—5.93702 — 1.709671

—11.27232 — 1.903101

u = —0.002801 + 1.2277201
a= 0.43866 — 1.571941
b= —0.738328 + 0.2918201

2.19010 + 0.497071

—9.03459 — 1.325141

u = —0.002801 — 1.2277201
a= 0.43866 + 1.571941
b= —0.738328 — 0.2918201

2.19010 — 0.497071

—9.03459 4 1.325141

u = —0.463428 + 1.1505401
a= 0.206323 — 0.3676071
b= —1.77236 — 0.07475]

—17.6778 — 2.52771

—14.7181 + 0.1

u = —0.463428 — 1.1505401
a= 0.206323 + 0.3676071
b= —1.77236 + 0.074751

—17.6778 4 2.52771

—14.7181 + 0.1

u = —0.407555 + 1.1831801
a = —0.449308 — 0.0824031
b= 1.184170 + 0.3025481

—7.01503 — 0.907901

—14.2280 + 0.1

u = —0.407555 — 1.1831801
a = —0.449308 + 0.0824031
b= 1.184170 — 0.3025481

—7.01503 + 0.907901

—14.2280 + 0.1

u = —0.370756 + 1.2455501

a= 0.615468 + 0.8271801 | —1.82707 + 2.234891 0
b= —0.445891 — 0.6133891
u = —0.370756 — 1.2455501
a= 0.615468 — 0.8271801 | —1.82707 — 2.234891 0

b= —0.445891 + 0.6133891




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.085876 + 1.3001407
0.31567 + 1.380011
—0.051237 — 0.4356161

4.23150 — 2.038601

0.085876 — 1.3001407
0.31567 — 1.380011
—0.051237 4 0.4356161

4.23150 + 2.038601

0.334888 + 1.2645801
= —0.392426 + 1.1345001
—1.068570 — 0.0869701

—1.65436 — 4.014241

0.334888 — 1.2645801
—0.392426 — 1.1345001
—1.068570 + 0.0869701

—1.65436 + 4.014241

0.242153 + 1.2872701
0.318641 — 0.5711381
0.280859 + 0.1546571

2.59980 — 3.139371

0.242153 — 1.2872701
0.318641 + 0.5711381
0.280859 — 0.1546571

2.59980 + 3.139371

0.503331 + 0.4510821
—0.360474 — 1.0204701
1.066120 + 0.0764621

—4.50790 — 1.795151

—15.5943 + 4.28671

0.503331 — 0.4510821
—0.360474 + 1.0204701
1.066120 — 0.0764621

—4.50790 4 1.795151

—15.5943 — 4.28671

0.391513 + 1.2718701

= 0.32209 — 1.48073I —11.83510 — 4.459271 0
= 1.74641 + 0.021161

0.391513 — 1.2718701
= 0.32209 + 1.48073I —11.83510 4 4.459271 0

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

= 1.74641 — 0.021161




Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.371472 + 1.2931701
a = —0.36103 — 1.456957 —1.45817 + 6.381001 0
b = —0.326465 + 0.6564571
u = —0.371472 — 1.2931701
a = —0.36103 + 1.456957 —1.45817 — 6.381001 0
b= —0.326465 — 0.6564571
u= 0.627430
a= 0.675315 —1.43225 —5.16570
b= 0.234560
u = —0.385838 + 1.3314307
a = —0.13299 + 1.855431 —5.94556 + 9.917451 0
b= 1.112000 — 0.3806807
u = —0.385838 — 1.3314301
a = —0.13299 — 1.855431 —5.94556 — 9.917451 0
b= 1.112000 + 0.3806801
u=0.145397 + 1.3907201
a = —1.28933 — 1.0108471 1.30405 — 3.959141 0
b= 0.939446 4 0.1502531
u= 0.145397 — 1.3907201
a = —1.28933 + 1.010847 1.30405 + 3.9591471 0
b= 0.939446 — 0.1502531
u = —0.39751 + 1.359491
a= 0.53384 —2.10202] | —16.1695 + 11.97261 0
b= —1.75547 + 0.102807
u = —0.39751 — 1.359491
a= 0.53384 4+ 2.10202] | —16.1695 — 11.97261 0
b= —1.75547 — 0.102801
uw=0.15162 + 1.444831
a= 195312+ 1.07952] | —8.28166 — 4.658521 0

b= —1.72058 — 0.034021




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.15162 — 1.444831
1.95312 — 1.079521

u =

—8.28166 + 4.658521

b= —1.72058 + 0.034021
u = —0.369157

= 2.62661 —9.52192 —4.22190
b= 1.63816

0.271798 + 0.2247911
0.661349 + 1.1687101
b= —0.244731 — 0.2450781

—0.383394 — 0.7849981

—9.02382 + 8.780531

0.271798 — 0.2247911
0.661349 — 1.1687101

—0.383394 4 0.7849981

—9.02382 — 8.780531

b= —0.244731 + 0.2450781

= —0.183739
a = —2.85656 —1.23322 —6.78810
b= —0.704396




u .2 _ .2 2 o 3 _ .2 _
. 9
II. I} = (—u?a+b—a u?a+a*+au—a—u, u u? 4+ 2u — 1)

(i) Arc colorings

aq =

ag =

<
(
(

(
w=(0)
<
(

(
<
(

2

—w2a—u?2—2a4+u—1
—u‘a—a—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —au — 5u? — a + 3u — 20
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C12 (u —u? +2u —1)?
Co (u® 4+ u? — 1)
c3,Cy u®
€4 (u® 4+ u? + 2u + 1)?
Ccs (u® — w2+ 1)
C6, €7, C8 (u® +u—1)>
€10, €11 (u® —u—1)>
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,C12 (y3+3y2+2y_ 1)2
C2,C5 (v’ —y* +2y—1)°
€3,C9 ?JG
Cg, C7,CS8 <y2 . 3y + 1)3
€10, C11
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1C)

Cusp shape

0.215080 + 1.3071407
a= 0.542287 + 0.4603501
b= —0.618034

u =

2.03717 — 2.828121

—11.10015 — 0.158181

u = 0.215080 4 1.3071401
a = —1.41973 — 1.205211
b= 1.61803

—5.858562 — 2.828121

—10.89327 + 4.430241

u = 0.215080 — 1.3071401
a= 0.542287 — 0.4603501
—0.618034

2.03717 4 2.828121

—11.10015 + 0.158181

= 0.215080 — 1.3071401
= —1.41973 4+ 1.205211
= 1.61803

—5.85852 4 2.828121

—10.89327 — 4.430241

0.569840
1.22142
1.61803

—9.99610

—21.8310

0.569840
—0.466540
= —0.618034

b
U

a

b

U
a=
b
U

a

b

—2.10041

—19.1820
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1, €12 (u® —u? +2u—1)?)(u®® = 3u®™ + - —du+ 1)
C2 (u® 4 u® = 1)) (u®® + 3u + - — 2u+41)
c3, Co uS(u®® —u 4 - — 32u + 64)
4 (v 4 u® +2u+ 1)) = 3u™ + .- —du+1)
Cs (u® —u? + 1)) (u®® + 3u + - — 2u+41)
C6,C7,C8 (u? +u— 1) +4u™ + - fu—1)
€10, €11 (u? —u— 1)) (" +4u™ + - Fu—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1,4, C12 ((V° +3y° +2y — 1)*)(y* + 379" + - + 40y — 1)
Ca, €5 ((y° —y* + 2y — 1)*)(y* — 39y™ + - + 54616y — 1681)
Cs, Co YO (y*® + 35y + - - - + 29696y — 4096)
0T e ((v* =3y +1)°)(y" — 625" + - + 33y — 1)
€10, C11
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